B.A./B.Sc. (Part-III) EXAMINATION, 2018

(10+2+3 Pattern) (Three-Year Scheme)
(Common for the Faculties of Arts and Science) :
[Also Common with Subsidiary Paper of B.A./ B.Sc. (Hons.) Part-111]

- ECONOMICS
Paper-II

Time allowed : Three hours Maximum marks:100 for Arts
75 for Science
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(A) APPLICATIONS OF MATHEMATICS IN ECONOMICS

Part-A/ -3

160
1. @ HKAC=—,* 5-30+20" then calculate value of marginal cost

—

"MC.

60 2
g %+5—3Q+2Q B @ S S MC 6 HH 91 Shiferg |

(i) If P== 100 - 2Q then calculate marginal revenue (MR)
& P == 100 — 2Q B & T 31 (MR) F1 5 91d Hifag |
(iii) If consumption function C= Ce* then calculate growth rate of
consumption.
e 3TRT e C= C e Bt ST it gfe | I Ffr |
(iv) Describe recognition conditions for complementary goods.
I TGS it TFEM Fi Y6l I e |
(v) What do you mean by rate of commodity substitution?
- T i ) R 39 I g9 € 2
(vi) What do you mean by Homogeneous Production function ?
THEY IS e | STTIh 51 STV & 2
(vii) Define a well-behaved production function.
T YR KA T S IReiya Hifg |
(viii) What is saddle point solution?
doa-fagea g ?
(ix) What is Simplex Algorithm?
Tareiag e nifvm faf s 2 2
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What is Cobweb-model?
Fiaqe Hised FNE ?
Part-B/YT -«
IfP=10¢=* then calculate elasticity of demand.

ARG P=10¢~+'* 21 a1 T =l @re 710 I |
What are the main properties of the original production function
suggested by C.W. Cobb?
T T Hie gN 3 T H SIS o it g2 fovean 9 € ?
Write a short note on types of Games.
& YR W T Giwa o fafad )
Find the consumer surplus under monopoly if Pd = 274 —q* and
MC=4+ 3q
THITUHR H ITHEI i F9a e afe Pd = 274 - @2 a1 MC=4
+3q3I
U= 4ye78,L=T-WandY =rW where Y = Income, . =Leisure,
T = Total ame hours, W = working hours, r= wage rate then
calculate supply function of work.
e U= 4y=7#, WL=T-WSRIY = 31, L= f9gm, T= o 574
% W, W = &M % H2, r= Aeigd # W &1 o9 F1 I Fer ¥
it | |
Part-C/9TT-9
Section-I/@US-1
Maximise the utility function when U = ¥ and budget constraint
is 10=x -5y
YA o 2w FASE U = e 3 a9 991 Fhaawy 10 -
x—5y=0%
Show the second-order condition for utility Maximisation for the
above.
ST Fer % oy e st #1 e %9 #1 ud =i
TR |
' OR/EAl
Derive the ordinary demand function and the compensated demand
curve from the following

freafafaa & 2 arwor =i wom a0 wfges =i e # gat

it~ .

U=q,+q,+2q,q,

Y=Pgq, +Py, 10+10
Section-I/@UES-II

If production functionis Q=5L*K**and P, = 1,P, =2 and C = 100
then find the value of L and K which can Maximize total output.
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I SeqRA e Q=5 LYK g P, = 1, P, =23 C=100 & AIL TK
F HH IR HIE S Pl ST F1 Sifsas ) 10

Derive input demand function from Cobb-Douglas production
function when the firm Maximize output subject to given cost,

FE O UG e @ Faw 7 werl it Foata SR s wH
< g% TR % STTEY Ity Afirnad W |

OR/HEAT
The point of constrained cost mlmmlzatlon also ensures
constrained output Maximization prove.
whrafya wrr e i fag wirafua s sfymars

gfifea Far? ) fag =ifm)
Prove that CES production function is a specnﬁc condition of
Cobb-Douglas production function. 10

fag ST fF CES SR For Hia-Tad KeT %ol &t 06
ﬁmi“mﬁr%l
Section-II/EUe-III
Derive the equilibrium price and nature of equilibrium from the

following demand supply function. 10
=t AT v g BeEl SR W SR a9T 9 S S e
Hifsa |

D=19-6P,

S=6P_,-5

Find the simplex solution of the following LPP
ot Yeftar wionfi s =6t faegeies fafy @ &a it

Maximize ¥ = 7 =5x +3x,

Subject to ¥fday  3x, +5x, <15
5x,+2x, <10
X,%, <0
OR/3HEA

The input-output coefficient and final demand vectors are as
follows. Find the gross output

HIRT- 1) ToT A Sife A wiw e gen % v SR 91 i
04 01 03 30
A=[02 02 03|F=[10
0.1 03 03 20

Find the solution of the game where pay off of company and
unions is given
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(B) ENVIRONMENTAL ECONOMICS
Part-A/MITT-37

Explain the following:

Tr=fatea = g9gEd:

@

(i)
(iii)
(iv)
)
(v1)

What is environment according to Indian Environment Act, 1986
schedule 2(=%;?

R ataTer STRIfRm 1986 =it 9/ 2 (F) % STTAR TR T 8?2
State any two direct factors of environment.

qgTeRor & Tl o woaeT SRRl =1 A SaEd |

State any two features of economic development.

anfeier faehra & fr=et <) el =t 3 witfo |

State any two misusable resources.

ot Q) gegartt danEl % = fafed |

Name human resources of water pollution.

SISt IGH & WA Bt s A fatad

What is drought according to Indian Meteorological Department
(IMD)?

e HAEstee fSueR= (WRar S fawr) & saEr
‘H\@T Y G % ?

(vii) Natural Vegetation

EICAGER RIS

(viii) Renewable energy sources

(ix)

(%)

®
(i)

Foll HE |
Components of ecosystem
Rt 3 & w2
Red data Book
T IF

Part-B/\IT-9

What is environmental economics 7
qteRoT ST P R ?
Explain agricultural development and environment

" it foere wE Tateo’’ =5 SHEE |



(iii) Draw the diagram depicting types of ecosystem.
TR 97 & TSR S <ot gen fas s e
(iv) Effects of air pollution
I HGHY o YN
(v) What is carbon credit ?
FET HE TN ?
Part-C/HMTT-9
Section-I/HT-1
Explain nature of environmental studies.
YIS STEE H THid TR |
OR/BHEA
Explain scope of environment eConomics.
et 1o & &9 i S S |
Section-II/S-I
Explain the results of green house effect.
Ra-T% y9E & 9o gl
OR/319al
Explain global warming.
PTUSEHI AT I THAA ||
Section-II/HT-1I1
Discuss different environment protection acts and laws in India.
ira § fafi= watero sifufram a S #it = s
OR/BEAT
Explain global environmental issues and the efforts to eradicate them.
Sy TataToe TE 9 3% THIYM & T 6 TaEd |
(C) ECONOMY OF RAJASTHAN
Part-A/HRT-37
(1) Area of Rajasthan
TSRYH HT FTHA
(i1) Where is National Desert park ?
T Ao U FE E 2
(iii) White Revolution
¥ad It |
(iv) Which city is known as textile city in Rajasthan ?
TRy H 8 I 1 259erea fadt & 9 § ST S € 2
(v) Write two main reasons of unemployment in Rajasthan.
TorM H SR & 3 9@ Hror fafes |
(vi) Write main minerals of Rajasthan.
TORYM & J9@ G & T o |
(vi1) State domestic product
T W] I |
(viii) RICO
il



(ix) Write any two problems of Small Scale Industry.

g S = et & et ) o |
(x) Human resource development indicators in Rajasthan. 2x10
TR B 9 dureH fasr g |
Part-B/ATT-9
(i Write a short note on literacy in Rajasthan. 4,3
JOTET | R W U witra feopoq fafad |
(i1) Whatis famine? 43
3THTS1 Q 3T FN T & ?
(iii) Explain Cerment Industry in Rajasthan. ' 4,3
TSI ¥ GIA=E I <t e B |
(iv) Write main objectives of RIICO. 4,3
T & Wiy S fafad |
(v) Explain three importance of Tourism Industry in Rajasthan. 4,3
TR § 942 UM & HIE A1 Tad Jaed |
Part-C/*iT-¥®
Section-1/&US-1
Discuss the present position -of population of Rajasthan in Indian
Economy. 20,16
YA AT o mﬁaﬁmﬁaﬁﬁﬁwﬁﬁﬁ%ﬂé\ﬁ& |
OR/3EAT
What do you mean by Natural Resources ? Explain the importance of
Natural Resources in Rajasthan. . 4+16,3+12

TRFfites SATYAT A 3T I T € 2 TIREE A Ww&a‘ﬁﬂ%ﬁ‘aﬁ
e Ffa1  http://www.uoronline.com
Section-I/GUS-II
Explain the various power project of Rajasthan. 20,16
Tera ¥ fafir= fagga afEemsi #t v i |
OR/BHEAT
Explain the objectives of Industrial policy of Rajasthan. What efforts
are made for infrastructure development in this policy?”"
TSR i it A & Ry T Fie | 39 Tifa | fa-g=aT faws
W T FT 2 10+10, 7V2+7%
Section-1I/@Us-II
What are the main constraints in the economic development of
Rajasthan? How can the constraints be removed ?  10+10, 7%2+7Y%
TSI % S forrer it ey e =7 € ?‘s%i’aa‘qmtg fopar S
TEHAE ? .
OR/3g
- Mention the main reasons for poverty in Rajasthan. Suggest the measures
to eradicate it. 10+10, 7V2+7V5
IS H TR & T FRON T Seord R | 3 U HH 39 aﬁga@ |
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